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Examiner's comments:

Most popular question. Generally well done.

(b) Some missed the estimation of the value for A.
(d) (if) Many did not know what to do.
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Examiner's comments:

Also a popular question. Generally well done.

(a) (iii) Most didn't square it for probability.

(b) Many confused with the case of E < V1.

(c) (i) Not many managed to show u(x) and u(x)=u(x+nL).
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Sticky Note
This is Bloch's theorem. Extra marks if Bloch's theorem mentioned.
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(a) Some put p-type substrate for p-channel device.
(f) Would be good to show the scale factor.
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